ALFA ROMEO

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




ALFA ROMEO

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3 info@parsrot.com




—
sy L and

ALFA ROMEO
930 1994-2001
AF-201  AF-13153
Control Arm Bushing Axial Joint
Inner Front Inner ————m e
7601064 Only:2.0tH.D M12x1,5-L=267mm
9947361
FT-12401 FT-12402
Tie Rod End Tie Rod End -
Front Right Front Left
M12x1,5Rht M12x1,5Rht
9947436 9947438
AF-13203 FT-12471
Axial Joint Tie Rod End &
Front Inner Front ﬁ
PowerSteering M12x1,5Rht-L=285mm Only:Alfa1,9JTD M14x1,5Rht
9944452 9947719
FT-16465 FT-16466
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Front Left Lower
D=@17mm D=@17mm {
60586772 60586771
FT-16467 FT-16468
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint =
Assembly Assembly
Front Right Lower Front Left
Forging D=G17mm Forging D=&17mm 5 |
60813044 60813043
FT-18550 FT-14411
Suspension Control Arm Repair Kit Stabilizer Link
Front Front
M10x1,25Rht-L=114mm
7601642
AF-202 AF-203
Control Arm Bushing Control Arm Bushing
Right Rear Left Rear
7601068 7601065

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

= [and ALFA ROMEO
146 930 1994-2001
|
FT-18550 FT-16468
s Suspension Control Arm Repair Kit Suspension Control Arm and Ball Joint .
Assembly
Front
Front Left
Forging D=@17mm 5 |8
60813043
| |
FT-16467 FT-16466
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
Forging D=@17mm D=@17mm
60813044 60586771
| |
FT-16465 FT-12471
Suspension Control Arm and Ball Joint Tie Rod End L
Assembly y
] Front Y
FrontRight  only:Alfa1,9JTD M14x1,5Rht M
D=@17mm
9947719
60586772
| |
AF-13203 FT-12402
Axial Joint Tie Rod End -
Front Inner Front Left
PowerSteering M12x1,5Rht-L=285mm M12x1,5Rht
9944452 9947438
| |
FT-12401 AF-13153
- Tie Rod End Axial Joint
Front Right Front Inner e =]
M12x1,5Rht Only:2.0tH.D M12x1,5-L=267mm
9947436 9947361
147 937 2000-2010
| |
AF-19307 AF-19308
Lateral Arm Lateral Arm
D——————() Rear Center Rear Rear ()
RearAxle-Front L=560mm RearAxle-Rear L=592mm
60629903 60652167
| |
AF-19317 AF-19318
Lateral Arm Lateral Arm
———-@ Rear Right Rear Left #._—_
60651934 60651935
info@parsrot.com

parsrot.com



Rot sy

== Land
147 937
AF-13313 AF-12301
Axial Joint Tie Rod End
Front Front Right
M14x1,5Rht-L=204mm M14x1,5Rht
9947923 9947920
AF-12302 AF-16305
Tie Rod End Suspension Control Arm and Ball Joint

Assembly

Front Left
M14x1,5Rht Front Right Upper
9947919 60657246
AF-16306 AF-16316
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Upper Front Left Lower
60657245 60652465
AF-16315 AF-18314
Suspension Control Arm and Ball Joint Suspension Control Arm Repair Kit
Assembly Eront
Front Right Lower  AF.305/306-AF-315/316-AF-310
60652466
AF-14310 AF-14311
Stabilizer Link Stabilizer Link
Front Rear
Metal L=124mm ELq]séi(?r(nCnlip-onTeknorotpatenteddesign)
60625029 60613575
AF-20208 AF-20210
Control Arm Bushing Control Arm Bushing
Upper Rear
46802682 46802682
AF-204 AF-205
Control Arm Bushing Control Arm Bushing
Center Right
50509340 50509340

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

ALFA ROMEO

2000-2010

parsrot.com

6

info@parsrot.com



Rot sy

= Land ALFA ROMEO
147 937 2000-2010
AF-208 AF-206
N Control Arm Bushing Control Arm Bushing
Left Lower Center Left
60620566 50509340
AF-207 AF-20720
P Control Arm Bushing Control Arm Bushing
Right Lower Center Rear
i 60620565 82315794
167 1992-1998
AF-203 AF-202
N Control Arm Bushing Control Arm Bushing
(5 N Left Rear Right Rear
Y 7601065 7601068
AF-12201 AF-12202
¥l Tie Rod End Tie Rod End
L Front Right Outer Front Left Outer i
d M12x1,5Rht M12x1,5Rht
7678717 7678718
AF-13153 AF-13203
Axial Joint Axial Joint
e Front Inner Front Inner
Only:2.0ltH.D M12x1,5-L=267mm PowerSteering M12x1,5Rht-L=285mm
9947361 9944452
FT-16465 FT-16466
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Front Left Lower
j D=@17mm D=@17mm i
60586772 60586771
FT-16467 FT-16468
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint =
Assembly Assembly
% Front Right Lower Front Left L
Forging D=@17mm Forging D=@17mm o |8
60813044 60813043

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

== Land ALFA ROMEO
155 167 1992-1998
FT-14411 AF-201
Stabilizer Link Control Arm Bushing
Front Inner
M10x1,25Rht-L=114mm 7601064
7601642
156 932 1997-2006
|
AF-14311  AF-14310
Stabilizer Link Stabilizer Link i
Rear Front I — ._*f
PIastic(CIip-onTeknorotpatentc?_dzd1essd%1r21 Metal L=124mm ? ‘
60613575 60625029 N
|
AF-18314 AF-16315

Suspension Control Arm Repair Kit

Suspension Control Arm and Ball Joint
Assembly

Front
AF-305/306-AF-315/316-AF-310  FrontRight Lower
60652466
AF-16316 AF-16306
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower

Front Left Upper

60652465 60657245
AF-16305 AF-12302
Suspension Control Arm and Ball Joint Tie Rod End
Assembly
Front Left
Front Right Upper M14x1,5Rht
60657246 9947919
AF-12301 AF-13313
Tie Rod End Axial Joint
Front Right Front
M14x1,5Rht M14x1,5Rht-L=204mm
9947920 9947923
AF-19318 AF-19317
Lateral Arm Lateral Arm
Rear Left Rear Right
60651935 60651934

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

8

info@parsrot.com



—
sy L and

156

932
AF-19308 AF-19307
Lateral Arm Lateral Arm

Rear Rear Rear Center

RearAxle-Rear L=592mm

RearAxle-Front L=560mm

60652167 60629903
AF-20210 AF-205
Control Arm Bushing Control Arm Bushing
Rear Right
46802682 50509340
AF-20720 AF-207

Control Arm Bushing

Control Arm Bushing

Rear Right Lower Center
82315794 60620565
AF-206 AF-208

Control Arm Bushing

Control Arm Bushing

Left Left Lower Center
50509340 60620566
939
AF-20709 AF-20725
Control Arm Bushing Control Arm Bushing
Center Right Lower
50704307 50708722
AF-20726 AF-20364
Control Arm Bushing Control Arm Bushing
Left Outer Upper
50708721 50704481
AF-20365 AF-13150
Control Arm Bushing Axial Joint
Upper Front
50704481 M20x1,5-L=230.5mm

77363707

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

ALFA ROMEO

1997-2006

parsrot.com

9

info@parsrot.com



Rot sy

= Land ALFA ROMEO
159 939 2005-2011
AF-12161 AF-12162
> Tie Rod End Tie Rod End @
- @ Front Right Front Left % .
~ M20x1,5  M20x1,5 /e
77363707 77363706
AF-16148 AF-16149
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly (’h
Front Right Upper Front Left Upper ——f@‘
@12.7mm @12.7mm
51787336 51787337
AF-16154 AF-16155
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
50706859 50706858
AF-16168 AF-16169
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Upper Front Left Upper
J11.2mm @11.2mm
51835398 51835397
AF-18166 AF-14156
Suspension Control Arm Repair Kit Stabilizer Link
Front Rear Right
L=116mm
51706474
AF-14157 AF-14158
Stabilizer Link Stabilizer Link
Rear Left Front Left
L=116mm L=102mm
51795705 51795454
AF-14159
Stabilizer Link
Front Right
L=102mm
51795455

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 10 info@parsrot.com



Rot sy

164

Land

ALFA ROMEO
1987-1998

AF-13403 AF-12402
Axial Joint Tie Rod End
Front Front Outer
M14x1.5Rht-L=263.8mm FiatCroma M14x1,5Rht
9945565 60511622
AF-11405 AF-11406
Ball Joint Ball Joint

Front Lower

Front Lower

D=@13mm FiatCroma D=@15mm
82446499 605103601
AF-16407 AF-16408
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
Ball Joint D=G13mm Ball Joint D=@13mm
82406868 82406867
AF-16409 AF-16410
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Front Left
Ball Joint D=&15mm Ball Joint D=@15mm
60588846 60588845
AF-16407N AF-16408N

Suspension Control Arm

Front Right Lower

Suspension Control Arm

Front Left Lower

82406868 82406867
AF-20477 AF-20478
Control Arm Bushing Control Arm Bushing
Front Outer Front Inner
60588844 60588842

AF-20720
Control Arm Bushing
Rear

82315794

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

A2 e L]

parsrot.com

info@parsrot.com



—
sy L and

936

ALFA ROMEO

1998-2007

AF-20426

Control Arm Bushing

Lower Center

AF-20427

Control Arm Bushing

Front Left Inner

60627291 60627291
AF-20428 AF-14320
Control Arm Bushing Stabilizer Link
Lower Center Front
60627201  -=145mm
60630757
AF-14330 AF-14331
Stabilizer Link Stabilizer Link
Rear Right Rear Left
L=95mm L=95mm
60628255 60628284
AF-16325 AF-16326
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Front Left
60665805 60665804
AF-16327 AF-16328
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Upper Front Left Upper
60666020 60653551
AF-13323 AF-12301
Axial Joint Tie Rod End
s e Front Inner Front Right
M14x1,5Rht-L=218.5mm M14x1,5Rht
9948297 9947920
|
- AF-12302
i Tie Rod End
Front Left
M14x1,5Rht
9947919

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land ALFA ROMEO
33 1983-1994
|
AF-12101 AF-11105
® Tie Rod End Ball Joint
Front Front
W‘ M14x1Rht M12x1,25Rht
' 60501540 545069
|
AF-20409
Control Arm Bushing
Center
60501394
75 1985-1992
|
AF-13173 AF-11175
Axial Joint Ball Joint
= = =i Front Front Upper
Powersteering M14x1,5-L=225.8mm 60728428
60734829
|
AF-12171  AF-11174
= TieRod End  Ball Joint
Front Front Lower
M14x1.5 60521236
60521320
1984-1987
AF-11174 AF-12171
Ball Joint Tie Rod End
Front Lower Front
60521236 ~ M14x15
60521320
AF-11175 AF-13173
Ball Joint Axial Joint
Front Upper Front = -:_:-gp
60728428 Powersteering M14x1,5-L=225.8mm
60734829

ARG 1985-1989
| |
FT-13754
Axial Joint
=P ' Front
* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.
MABXTBRR-E=303mm

parsrot.com
9750001180

info@parsrot.com



ﬂo[n
= Land ALFA ROMEO

ARG 1985-1989

FT-23751754 FT-12751
Steering Tie Rod Assembly Tie Rod End
Front Front

9790002680 M16x1,5Rht
9750079800

FT-11752
Ball Joint

Front Lower
D=@16mm

4388159

1985-1989

FT-11752 FT-12751
Ball Joint Tie Rod End

Front Lower Front
D=@16mm M16x1,5Rht

4388159 9750079800

@_
O—==—=ﬂ

FT-23751754 FT-13754
Steering Tie Rod Assembly Axial Joint
Front Front -E=-°
9790002680 M16x1,5Rht-L=303mm
9750001180
GIULIETTA 940 2010 after

AF-16357N  AF-16358N

|
Suspension Control Arm Suspension Control Arm
Front Right Lower Front Left Lower
50513442 50513444

GIULIETTA 940 2010-2016
| |
AF-13353 AF-12351

Axial Joint Tie Rod End
- Front Front Right

M16X1,5-L=330mm M16X1,5
50521026 50520353

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 14 info@parsrot.com



Rot sy

= Land ALFA ROMEO
GIULIETTA 940 2010-2016
|
AF-12352 AF-11350
Tie Rod End Ball Joint :P
Front Left Front Lower
M16X1.5 50513444 3
50520352 )
|
AF-16357 AF-16358
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower
CH:->7034561

Front Left Lower
CH:->7034561

50513442 50513444
AF-14354 AF-14355
Stabilizer Link Stabilizer Link
Front Rear Right
L=298mm L=113mm
51805870 51978679
AF-14356 AF-20806
: Stabilizer Link Control Arm Bushing
H. Rear Left Lower /
L=113mm 54505863
51978680 .
AF-20807
Control Arm Bushing
Lower
51805862
937 2003-2010
|
AF-208 AF-207

Control Arm Bushing

Left Lower Center

Control Arm Bushing
Right Lower Center

60620566 60620565
AF-206 AF-12181
Control Arm Bushing Tie Rod End
Left Front Right Outer
50509340 77364522

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

ALFA ROMEO
937 2003-2010
AF-12182 AF-13323
Tie Rod End Axial Joint
Front Left Outer Front Inner
77364521 M14x1,5Rht-L=218.5mm
9948297
AF-12301 AF-13313
Tie Rod End Axial Joint
Front Right Front
M14x1,5Rht M14x1,5Rht-L=204mm
9947920 9947923
AF-12302 AF-16305
Tie Rod End Suspension Control Arm and Ball Joint
Front Left Assembly
M14x1,5Rht Front Right Upper
9947919 60657246
AF-16306 AF-16316
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Upper Front Left Lower
60657245 60652465
AF-16315 AF-18314
Suspension Control Arm and Ball Joint Suspension Control Arm Repair Kit
Assembly Eront
Front Right Lower  AF.305/306-AF-315/316-AF-310
60652466
AF-14310 AF-14311
Stabilizer Link Stabilizer Link
Front Rear
Metal L=124mm ELq]séi(?r(nCA%p-onTeknorotpatenteddesign)
60625029 60613575
AF-204 AF-205 —
Control Arm Bushing Control Arm Bushing
Center Right
50509340 50509340

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

16

info@parsrot.com



Rot sy

= Land ALFA ROMEO
GTV 916 1994-2005
|
AF-12202 AF-12201
Tie Rod End Tie Rod End &
Front Left Outer Front Right Outer B
ig M12x1,5Rht  M12x1,5Rht d
7678718 7678717
] |
AF-13153 AF-13203
Axial Joint Axial Joint
—————m{ Front Inner Front Inner
Only:2.0ItH.D M12x1,5-L=267mm PowerSteering M12x1,5Rht-L=285mm
9947361 9944452
] |
FT-14411 FT-16468
Stabilizer Link Suspension Control Arm and Ball Joint .
Assembly
Front
M10x1,25Rht-L=114mm  Front Left
Forging D=@17mm 5 |8
7601642
60813043
| |
FT-16467 FT-16466
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
Forging D=@17mm D=@17mm
60813044 60586771
| |
FT-16465 AF-14416
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Rear Right
Front Right
D=@17mm 60612435 1
60586772
|
AF-14417
Stabilizer Link
a——“? Rear Left
60612436

1985-1992

AF-12171
Tie Rod End

Front
M14x1,5

60521320

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

AF-11174
Ball Joint
Front Lower

60521236

parsrot.com

info@parsrot.com



Rot sy

== Land ALFA ROMEO
MILANO 1985-1992
|
AF-11175 AF-13173
Ball Joint Axial Joint
Front Upper Front - mrm—— miys
60728428 Powersteering M14x1,5-L=225.8mm
60734829
MITO 2008-2016
|
OP-13183 FT-12481
Axial Joint Tie Rod End
e —— - Front Front Right
M14x1,5-L=289mm M14x1,5Rht
93189022 1609458
|
FT-12482 FT-11485
& Tie Rod End Ball Joint
: Front Left Front
M14x1,5Rht 51783057
1609457
FT-16486 FT-16487
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower

Front Left Lower

51895366 51895367
FT-16486N FT-14480
Suspension Control Arm Stabilizer Link
Front Right Front
51895366  -o00mm
50515276
FT-16487N AF-20623
Suspension Control Arm Control Arm Bushing
Front Left Lower Center
51895367 55703232
AF-20624
Control Arm Bushing
Rear
55700751

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

18

info@parsrot.com



Rot sy

= Land ALFA ROMEO
SPIDER 167 1992-1998
AF-12201 AF-12202
Tie Rod End Tie Rod End
Front Right Outer Front Left Outer
M12x1,5Rht M12x1,5Rht
7678717 7678718
AF-13203 FT-16465
Axial Joint Suspension Control Arm and Ball Joint

Assembly

Front Inner _
PowerSteering M12x1,5Rht-L=285mm Front Right
D=@17mm
9944452
60586772
FT-16466 FT-16467
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower

Front Right Lower

LAY T

D=@17mm Forging D=@17mm
60586771 60813044
FT-16468 FT-14411
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front
FrontLeft  M10x1,25Rht-L=114mm
Forging D=@17mm
7601642
60813043

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

19

info@parsrot.com






